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BECE-107 : INDUSTRIAL DEVELOPMENT IN 
INDIA 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt questions from each section as per instruction. 

SECTION - A 

Answer any two questions from this section in 
about 500 words each. 	 2x20=40 

1. What are the factors that led to economic reforms 
in India ? Bring out the salient features of the 
New Economic Policy, 1991. 

2. Define Total Factor Productivity (TFP). How is it 
measured ? What are its limitations ? 

3. Briefly explain location theories of Sergant 
Florence and Hotelling. 

4. Define industrial sickness. What are the major 
causes of industrial sickness ? What policy 
measures are being taken to ameliorate industrial 
sickness ? 
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SECTION - B 

Answer any four questions from this section in 
about 250 words each. 	 4x12=48 

5. Give a brief account of industrial growth in India 
since 1991. 

6. Briefly outline the mechanisms to sort out 
industrial disputes in India. 

7. Suggest measures to improve economic and social 
conditions of unorganised sector workers. 

8. What is meant by international labour standards ? 

9. Highlight the trends in financing of India's 
corporate sector. 

10. Explain the problem of under-utilisation of 
capacity in India. 

SECTION - C 

11. Write short notes on any two of the following in 
about 100 words each. 	 2x6=12 
(a) Good and bad impact of globalisation on 

Indian industry 

(b) Fragmentation of production process 

(c) Benefits of Foreign Direct Investment (FDI) 

(d) Development of ICT sector in India 
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